Econ questions:

A consultant has provided you with his best estimates of market demand and supply for herbal tea as:

Qd= 50- P

Qs= 0.5-10

a. determine the competitive equilibrium price and quantity

b. Determine the quantity demanded, quantity supplied, and the magnitude of the surplus if a price floor of $42 is imposed in the market.

The following estimates have been obtained for the market demand for cereal:
Ln Q=9.01-0.68Ln P+0.75LnA-1.3 Ln M where Q is quanity of, P is the price of cereal, A is the level of advertising, and M is income. Based on this information, determine the effect on the consumption of cereal of:

a. A 5 % reduction in the price of cereal

b.  A 20% decrease in the level of advertising

An accountant for a car rental company was recently asked to report the firm’s cost of producing various levels of output.  The accountant knows that the most recent estimate available of the firm’s cost function is C (Q) =100+10Q+Qsquared, where costs are measured in thousand of hours rented:
a. What is the average fixed cost of producing 2 units of output?

b. What is the average variable cost of producing 2 units of output?

c. What is the average total cost of producing 2 units of output?

d. What is the marginal costs of producing 2 units of output?
Alpha Corporation supplies Boeing Corporation with preformed sheet metal panels that are used on the exterior of aircraft. Manufacturing these panels requires only 4 sheet metal-forming machines, which cost $400 and workers.  Workers can be hired on as needed basis at $15,000 each.  The market price for one of Alpha’s panel is $60.00 because the market is highly competitive . How many workers should Alpha hire to maximize its profits .
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